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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5§ are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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Evaluate the potentials for entrepreneurial education and training to
democratize access to entrepreneurial opportunities.

Can anyone learn to be an entrepreneur or are certain inherent qualities
essential to become a successful entrepreneur ?
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Discuss the relation between perception and problem solving. How does

an individual’s perception of a problem affect how they approach a
solution ?
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[llustrate how the application of core job design principles directly links
to enhanced employee satisfaction and organizational efficiency.
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What innovative Human Resource Management (HRM) approaches

could be adopted in future to foster supportive and inclusive
environment prioritizing employee well-being ?
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Broadbanding is increasingly being adopted to manage employee

compensation. Illustrate with examples the benefits of broadbanding in
compensation management.
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In what ways can ethical behaviour in management contribute to a
company’s social responsibility efforts ?

How can ethical decision-making improve a company’s social
responsibility outcomes ?
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How do advanced technologies like Artificial Intelligence and Machine
Learning support Knowledge-Based Enterprises ?
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What are the challenges an organization faces in integrating human
resource information system with other business systems, e.g. CRM,
ERP, Payroll, etc. ?

Suggest probable solutions to overcome these challenges.
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As a Global Innovation Manager, you have been given a task of leading

the new product development which will be launched across multiple

international markets.

(i) Explain how you will manage the innovation process while
considering cultural, economic and regulatory differences across
regions.

(ii) What strategies will you follow to foster innovation and
collaboration across diverse global teams ?
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Enumerate the principles of learning and reinforcement. How can these

principles be wutilized by the management to enhance employee
effectiveness ?
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Explain the diverse roles of the stakeholders that contribute to the
framework of industrial relations within an organization.

How do the interests and roles of these stakeholders conflict with each
other ?
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You have been recently appointed as the Operations Manager of a
mid-sized manufacturing company.

Discuss how you would manage both direct and indirect activities in the
value chain to improve efficiency and add value to the final product.
Enumerate your answer with suitable examples. 20
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How do leadership theories help in developing successful leaders ? 15
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As a Performance Management Auditor, what criteria would you use to
evaluate the effectiveness of a Performance Appraisal System ?
Do you think that appraisals enhance employee effectiveness ? Explain. 15
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How does management accounting information adapt its focus and

detail across different management levels and time frames to support

various decisions ?
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Explain the paradoxical nature of liquidity as both a safeguard and a
potential drag on corporate performance by examining the delicate
equilibrium between security and opportunity cost in cash management

decisions.
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Elucidate the functional objectives of cost accounting records and
delineate their key distinctions from financial accounting records.

Give illustrative examples of significant cost accounting documentation

and their respective applications.

3l Eiie gaer i Afedarsti 1 Sear@ i |
Trse  Sfenfies Tl sraer $i 31t RRivaTe B2B (adm ¥ =qeum) dav |
forqurr worifa <6t 8 Tefed T 2 |

State the complexities of Industrial Buying Behaviour.
Explain how unique characteristics of Industrial Buying Behaviour
affect marketing strategies in B2B contexts.
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Discuss the importance of ethics in marketing and its role in consumer
protection.

Explain how unethical marketing practices can harm the consumer and
damage the company’s reputation. Give real life examples to support
your answer.
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A startup company is experiencing rapid growth in sales. However, its
net income remains low. Explain the possible causes of this situation
and discuss the strategies that management should employ to improve
profitability.
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How does globalization influence corporate financial policy and
strategy ? Discuss the challenges and opportunities that multinational
corporations face in managing their finances across different countries
and currencies.
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A technology startup is preparing to launch a new smart fitness
wearable. Outline a market research plan to help the company
understand customer needs and test the market potential.
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Elaborate the distinctions between job costing and process costing
methodologies. Give relevant examples of industries where each
approach is typically applied. Furthermore, illustrate scenarios where a
hybrid costing system proves advantageous.

SLPM-P-MGT 6

10

15

15

20

15



IIIIIIIIIIIIII

NCE

(b)  Su-Srefirehl srzeni <t fmtam shoelt Cefte SaTiTsiist 37Ot SeaTa &t T Hewqut
fore R ot W foam o @1 2 | 39 faear o =8 qefiad) ue Syt § aty ffsya amma
et grft, 3 S 379 kT fodior i e W e @ E -

o feufy -

IEGRECIKERSIG - %20,00,000-00
TREdi e ara afdsws - £50:00
BIRECOHICERE 2] - %15000

T Jcare 3 fershr — 50,000 FFIEAT
FIUH AT 5 - %10,00,000-00
[EISEEIECIE

¢ g8 HiEa aReEmed anm ~  %35,00,000-00
S I | gfg —  %18,00,000-00
Jeared R forshi & sraféra afg - 20,000 gHTEAT

()

(i1)

(iii)

(iv)

(v)

SLPM-P-MGT

T SR AT TR Iale i1 & (S 311 ver), forftar 3witer o &
(1 U Te) T HYh Il ok &l (S Ei Tet) o 0T i |

TSI SITSiS ohl e TSt o aftemed 3R fasdia sifien o gy =6
fargetyor ifsre | suw snfiret gwsiat i faa=ar fifvw

AU T SFIHTHG I &R 1 bl & § T ge, forsht A § uftada &
fore shoft i wifer e 21m (3 oft ww) <t HaaRiterar o1 qedie i |

foreir 3R aferer SHie o 38w TR o1 fAuitor wa v wefidt Teisis
# 7 et w o =@ =ifee, 39 w feear fite, fwy sv 3
I=a-Uenfirehl Igi it Tferar Fded ¥ |

qH e o wsidt STdisis SR0T 9@H & ddol Sfaadl SIRT o S
Fepfeuss fordfiT foeredt o famm o @& R, =awe Sifste for = oy ot &
fordfia oo 3 gaw siifigw s9@T 61 8 T 6T |

7



ABC Technologies, a company producing high-tech components, is
considering a significant expansion of its production capacity. This
expansion will involve substantial fixed costs in new machinery and
equipment, and they are also considering increasing their debt
financing. The following information is available :

Current Situation :

Fixed Operating Costs - ¥20,00,000-00
Variable Operating Costs per unit - %5000
Selling Price per unit - ¥150-00
Current Production and Sales — 50,000 units
Current Interest Expense - %10,00,000-00

Expansion Plan :

Increased Fixed Operating Costs - ¥35,00,000-00
Increased Interest Expense - %18,00,000-00
Expected increase in Production and Sales - 20,000 units

(1) Calculate the current and projected Degree of Operating Leverage
(DOL), Degree of Financial Leverage (DFL) and Degree of
Combined Leverage (DCL).

(i1))  Analyse the impact of the expansion plan of ABC Technologies on
operating and financial risk. Discuss the trade-offs involved.

(iii) Evaluate the sensitivity of the company’s Earnings Per Share
(EPS) to change in sales volume, considering both the current and
projected leverage levels.

(iv)  Discuss the factors that ABC Technologies should consider when
determining the optimal level of financial and operating leverage,
especially in the context of high-tech industry’s volatility.

(v)  Given that ABC Technologies is considering alternative financing
options, such as issuing equity instead of increasing debt, explain
how this decision would impact the company’s financial leverage
and overall risk profile. 5x4=20
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Discuss how globalization has transformed marketing
management practices.

Explain the role of digital technologies (including social media, big
data and e-commerce) in reshaping marketing strategies.

Give examples of companies and sectors where these changes are
most evident.
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Company X experienced a significant increase in its Current Ratio
from 1-5 : 1-0 to 25 : 1-0. However, its Quick Ratio 0-8 : 10
remains unchanged. What could be the reasons for this divergence
and what potential implication might this have for the company’s
financial health ?

A company’s Debt-to-Equity Ratio decreased significantly
year-over-year, while its Return on Equity (ROE) also decreased.
What could be a plausible explanation for this scenario ?

A company’s ‘Reserves and Surplus’ increased substantially
during the year, but its ‘Cash and Cash Equivalents’ remained
relatively flat. What could explain this situation based solely on
Balance Sheet information ?
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What is Money Market ? Elaborate its key functions in the financial
system. Include specific examples of widely used money market
instruments and the institutions that deal in them.

wF T R @y e fafraes () Sresa @ arEfie
TEVTITAT S@HT FTedT @ | A-awerit et & fore dar fauvre & @rd dist (7Ps) &1
IFINT A BT ek Sfrardt fermur e i e dar i |

A local non-profit healthcare clinic wants to increase awareness and

community engagement. Qutline a basic marketing strategy using the
7Ps of service marketing tailored for non-profit organizations.
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